Adda

ffem =T : 51
ferea : - forgm/ en semam

TR (TR ) :
IThuieh (Y1sai H) :

Question Booklet Bar Code Serial No.
m Ty-gfiaeht SR IS shH HE

STedt o gEer et Fdiereh o geaner

THT : 2 9Ue

quties : 200

9.
10.
11.

12.
13.

14.
15.
16.

. 39 ge-gfeaeht B < Wit 8 | e gem 9w § g 9 8 g $of 30 T # |

30 T -gfeqent & Tt wm § Jenfouss foavar & wrafa 3o 70 v 2 |

39 TY-GfEaesht § 100 T () feu T 2 | ycdes oA fat STt S g § ®uT 7 | I WA W fotu = ke
feu T & | 3 & U e @1 99 o, T 319 SR U W Hfehd S TEd & | AfE SR UE @ foh uh A ik
foreheu Tt 2, a1 34 foshed 1 3ifhd K ST MU TETH ohl | Teh ST o foIT haet U & fershed g1 7 |
TRIEN T B 3 TR A1, 3T 3 9k <hl e S1arvd e o foh 36w ohis forn o, shet o et gt U S1era SeAim
afeag|

sregeff e ffteres g e <H o SU=d € T -gfEaeht i Hie @i |

3ff I T (3T, TH. IR, M) W IW ¢ ¥ T8t T -GfEdeh! Td I T oh il 3TN ol HaEHIgee 9g o |

IR T (3. T, . Me) W A7AT 3191 STehAh, fawa, Ie-u 1 TE IS, AN IeAT hl AT qAT SN
AT o T TesAdeh e STIUT 3T WA I qediehd A8l {ohal SRR 3R Frqul friert T arvreff <t gt |
srereff w2t I ffdee Sid gU 36 & had T TNt J19ET 99 Sl IT T T HIA Sl @se U § 0 T8 G |
Teh W 3Afeeh I e hi g1 H IR i TTedd WHT SR TS 38 A= el SR |

I 9=k (3T, TH. 3N, 3f) T Ueh o1 MeAT W I o s1¢ 399 fopet off TohR b1 Uiterd &1 fepam S |

el 3T T (3. T, AR, M) 1 foreft Thr 7 A1E |

IR 319 Tt I Shelel ST Teh (3. T, IR, 3ie) W& <4 & | ofien o I ST ek (3. W, 3R, Fie) het
forlierss =l witer € |

Ffe fa=dt a1 sl foewor o 18 fommfa 2, o 3w faawor srfeam o s |

Ffe HIE vl faa J1em 1 T AT 2 AT IHHT AT HIAT & AT TWHeq he H foREt YRR 1 HGUH HT 7,
a8 ahien % fore s =i o fean sw |

s off srvefl wien e ¥ e TE TR 9 a6 120 e (3 99) WA F W A |

w1s ot W ®H, Al 0 &, 37 F 2q Fuffa el w= ) & e s =fed | srfafea = = o s

IO SRR 31T foree & foTw e Ier vk (37, TH. 3R, ¥ic) W I o WA o TolT et hiet el WiTge U <l ST
|

T ek IR Ig I —-YEreh! Wi whl 7 gl & e aeh 4 @l |

Note : The English version of the instructions is printed on the last page of this Question Booklet. e
0000000000000 00000000000000000000000O0BOCGOCROCO

-1-

247

E S ek JATUEh! I TIT—fEeTohT WieT Thi 7 gl W& qa ek 1 S |

r——-

L — — -


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

AddaR247

T 3T
GENERAL KNOWLEDGE

TR e T ¥ e frw Sreft & fiffa 8 7

(A) TR CEES (C) I (D) 3T H | hS &l
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Nagara (B) Dravidian (C) Vesara (D) None of the above

2. = d %o fou g, 5 | s A iR (A) 9T GER I SRR (R) HET TR
AfRE (A) : TelE 3fea TaITE. ﬁ@aﬁmwmmﬁﬁqﬁﬁﬁ%wmﬁ§W|
HROT (R) - TR, ST TR T T TR IT9ad AT aTel T3S, § ¥ 3 a1 YRd &1 Je9H
YRR e & |
Frer fou e e ¥ T I g

®e:

(A) (A) 3T (R) THT & & 3 (R), (A) 1 Tl SHEAT hidl &

(B) (A) 3T (R) gHI a?a g, W= (R), (A) I TE ST TE HT B

(O) (A)HA 7, T (R) 38 &

(D) (A) 31 &, Wg <R>wr%

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Global India Al Summit was recently held at Bharat Mandapam in New Delhi.

Reason (R) : Singapore, Denmark and United States of America are among the highest rated Al and
India’s performance is relatively strong.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

3. 2024 UH.EL.U. gN A HIA-TF T3 g1, JTeersHl W 6T Wi i o w & forg wfeass
THeATaE Wieh ol AfdTd il & ?
(A) TgHHHE (B) g (C) SHTERTITIER (D) ehwelt

Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression
of Alzheimer’s disease ?

(A) Aducanumab (B) Kisunla (C) Lenacapavir (D) Legambi
4, Torm U9 TR A <fl T R TST GraT-METET 6 et fean ¢
(A) ST Fem (B) BffETE (SR (D) HEF e
Which State Government gave status of ‘Rajya Mata — Gomata’ to indigenous cow ?
(A) Uttar Pradesh (B) Chhattisgarh (C) Maharashtra (D) Madhya Pradesh
5. whre fafoada dftemfim 2024 smnfom i mE
(A) e o (B) deTH | (C) =g (D) @t |
Asian Billiards Championship 2024 was organised in
(A) Riyadh (B) Tehran (C) Mumbai (D) Dhaka
6. Trafefea & @+ ge@ a1 fava ot 1 fooar & 2
(A) A=t =t (B) TF WL (C) | TegHT (D) T[S ST
Who among the following is Youngest World Chess Champion ?
(A) Nancy Tyagi (B) Manu Bhaker (C) Sanjay Malhotra (D) Gukesh Dommaraju
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7. T=faRed 4 @ F-w1 g ° wufie 2o wug &1 oty 768 8 2

(A) HTEThI (B) T=&I0T (C) @fecy gften (D) 3Tacleh
Which of the following is not a method of primary data collection in research ?
(A) Interviews (B) Surveys (C) Literature review (D) Observations
8. Twreror ® g farfer w61 S=Agran fohe mmm ST 8 2
(A) S Feft B) faferm &< frerifes
(C) . FTHET (D) gHTd
Who is considered to be the originator of the project method in teaching ?
(A) John Dewey (B) William Heard Kilpatrick
(C) Prof. Armstrong (D) Socrates
9. wufier Thel o TR i faflkmi &
a. g A=A fafy
b. ST TeATEe fafy
c. 3TeATE &
d. ITgE
A3 fom o faeperdt A & W IR T
(A) %9 b, ¢, d (B) aa a, b, d (C) %ad a, ¢, d (D) had a, b, ¢

Methods of collection of primary data are
a. Case study method
b. Mail questionnaire method
c. Online resources

d. Schedule
Choose the correct answer from the options given below :
(A) Onlyb,c,d (B) Onlya, b, d (C) Only a,c,d (D) Onlya,b,c

10. Tr=fafea & @ -1 e 4 yredTere geare i fomivar 78 8 7
(A) Hea & gur @ fow gaa sfafsean wem e
(B) UTSTshH o 37d H U UgH A o ford s fomam sman
(C) BTAT hl 3ThI dqTehd 3T HASITET H! U&= H Heg Hidl &
(D) Wf¥Terehi sl R 1 ITTERTHAT dTct &1 o SR H Hiad T o
Which of the following is not a characteristic of formative assessment in teaching ?
(A) Provides ongoing feedback to improve learning
(B) Conducted at the end of a course to assign grades

(C) Helps students to identify their strengths and weakness
(D) Informs instructors about areas needing improvements

11. FrefaRed & & we-d My 6 A &g 2

(A) TTeifeh (B) UferaTfErs (C) Ta&m D EEESIET

Which of the following is not a method of research ?

(A) Philosophical (B) Historical (C) Survey (D) Observation
12. frefeiaa @ @ si-o1 Jramfecss GEwo 1 YR T2 € 7

(A) aroft Heha (B) feftga Twivor

(C) I8 TFIh (D) TURH Treh

Which of the following is not a type of non-verbal communication ?

(A) Voice signal (B) Written communication

(C) Eye contact (D) Tactile contact
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13. Trafafea ® @ form @21 9 99 2005 | - 6l I[EaTT I ?

(A) 3TE.3718. 8. HHEL (B) sfew et ey W fervarferemer

(C) sTRTETE Teraterne™ (D) feeett fervataame™

Which of the following institutions launched e-Gyankosh in the year 2005 ?

(A) IIT Kanpur (B) Indira Gandhi National Open University
(C) Allahabad University (D) Delhi University

14, HESI STE-TT3 1 ITAN Hd 0, FI&T TGH oh (o0 ST XA &1 8 7
A) for forelt Wiy o HeleRTa @ral de U
(B) 3194 HIadM ! The ohid o fore .. TH. 1 ITFT ot
(C) \eft FraT HuTISH e hi
(D) GERI |1 AT Sl TS i
When using public Wi-Fi, what is a recommended practice to enhance security ?
(A) Access sensitive account without any restriction
(B) Use a VPN to encrypt your connection

(C) Disable all security settings
(D) Share your connection with others

15, Jdedfebm § ‘A.frud. hT I 3T B 7

(A) T3S YTgA AeTh (B) S931 Ufectesh Aeaeh
(C) Aftuset UTgae Jeaeh (D) ANHTZES UTZae Heah
What does ‘VPN’ stand for in networking ?
(A) Virtual Private Network (B) Virtual Public Network
(C) Variable Private Network (D) Verified Private Network
16. WA H S=rsfie TRerul e e arid g3 ?
(A) 1972 (B) 1968 T (C) 1980 (D) 1986 H
When was the Wildlife Protection Act passed in India ?
(A) 1972 (B) 1968 (C) 1980 (D) 1986
17. Trafafea & @ SR- f9 fiegsa y9ae 78 serdt 8 2
(A) HTe SEAGAEE  (B) HIEA AHISAGHEE  (C) WM (D) ATEeH ATFATES
Which of the following gases does not cause greenhouse effect ?
(A) Carbon dioxide (B) Carbon monoxide (C) Methane (D) Nitrous oxide
18. Wﬁmﬁ@ﬁmmézﬁﬂ%ﬁ@amw% % JAfafer
(A) CO,®fEASRA  (B) TdI&d AT ) SIS & (D) Safafagar ¥ gfg
The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except
(A) CO, fertilization (B) Global warming (C) Ozone depletion (D) Increase in biodiversity
19. Tfafgd § 9 HH-91 T WRA F HHH FCUE § ?
(A) I (B) I=Tg (C) gr=is (D) HTUSAT
Which one of the following is an artificial port of India ?
(A) Cochin (B) Chennai (C) Mumbai (D) Kandla
20. A h fopH TsT § Hed 31fireh STHHETSE I IcqTET BT @ 7
(A) TGS (B) Tk (C) 3fear (D) BTG
Which State of India is the largest producer of Bauxite ?
(A) Jharkhand (B) Karnataka (C) Odisha (D) Chhattisgarh
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21. 3 =g | TS § B aTeht 99T o1 TR AT 7 7

(A) Ted= (B) ufd =rsharrdta (C) T (D) FshaTc
What is the type of rainfall that occurs in Tamil Nadu during winter season ?
(A) Mountainous (B) Anti cyclonic (C) Convectional (D) Cyclonic
22, ‘IATeHdR wur Y T fhEa Ay 7
REICIREEEIEE (B) TS TH Higd T
(C) T&TH! g T&ard! (D) TEN i <d
Who founded the ‘Atmiya Sabha’ ?
(A) Swami Vivekananda (B) Raja Ram Mohan Roy
(C) Swami Dayananda Saraswati (D) Radha Kant Dev
23, frfafad # 9 fr8 1938 § GUTY I 1 < NI ¢ o IvaTd WRATT TS hidd 1 A AT
™Y
(A) TeAHITE T BEERSINERS (C) Tt S (D) Ei. Tsig, 9H1e

Who among the following was elected as President of the Indian National Congress after Subhash Chandra
Bose resigned in 1938 ?

(A) Vallabhbhai Patel (B) Jawaharlal Nehru  (C) Annie Besant (D) Dr. Rajendra Prasad
24. G — | I FAT — 113 H1Y GHTA HIC qUT Fli o6 1<l 1T TC e § § T2 I FHT :
it - | i
(Srardieh) (3ATETE)
a. 9T TR Tt . Reem®d 3Tgre
b. SMeha ITef Il. 1857 fagre
c. TETeT Treft IIl. TEef 3Teie (1905 | 1907)
d. SETg 28 IV. STEEAM JATGIeH
%
a b c d
(A v Il I
B) | 1 v
(C) I v Il
(D) 1 v I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
(Originator) (Movement)
a. Bal Gangadhar Tilak [. Khilafat Movement
b. Shaukat Ali II. 1857 Revolt
c. Mahatma Gandhi Ill. Swadeshi Movement (1905 to 1907)
d. Bahadur Shah IV. Non-Cooperation Movement
Code :
a b c d
(A v Il I
B) | 1] v
(C) I v Il
(D) 1 v i I
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25. TS TN o SR H F=fafad § § SH-91 62 99 2 7
(A) I8 Ush Tyt freer B @ feafea &t fopam 1 wemar |
(B) sl frgferd wermrwst gra <ht ot 2 |
(C) 3Eh UTH IFHIEE ol 31T HNNG i ol H{UHR 2 |
(D) & had AT AT H G FaTierd &I & |

Which of the following statements about the Election Commission is true ?
(A) Itis a permanent body that can not be dissolved.

(B) It is appointed by the Prime Minister.

(C) It has the authority to disqualify the candidates.

(D) It only operates during election period.

26. GECT IEA SAGET
(A) HrfuTferert, faenfiept & gfd Saiert 8
(B) faenfiepr, swridTferent & ufd SR 2
(C) =arrrietent, faenferr & ufd Soeerh &
(D) HRIITIAHI, =ETcteRT o Uid SR &

In Parliamentary form of Government

(A) Executive is responsible to legislature
(B) Legislature is responsible to executive
(C) Judiciary is responsible to legislature
(D) Executive is responsible to judiciary

27. HHE % TohE TeH o HSEl W YTdeheld AT Tid i ATl & 7
a. T T
b. ST 41
d. Tegufd gRT HA Teedt &
) fe T forebedt @ T 3R R
(A) o a (B) s a 3N b
(C) %ad d (D) 9 a, b 3T d
The Estimates Committee is constituted from the members of which House of Parliament ?
a. Lok Sabha
b. Rajya Sabha
c. From members of both Houses

d. From members nominated by the President
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb
(C) Onlyd (D) Onlya,bandd
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28. Yl — |l F — I h A1 Guferd hIfe qen giei o e T Te Fe § 9§ F& I AT
T -

= -
a. Teq foqy . g deY 3% J9
b. ATHE HTeUH . g TR atf% et e
c. ST, Afem| . srfifEfasy we Mg Saeune
d. @it 3rfi Iv. TEH 31 ¢ fifted s1fe uieqersm
Fe:
a b c d
(A) Nl i 1% I
(B) | 1% Il 1]
©) 1 I Il v
(D) | v Il I
Match List — I with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
a. Adam Smith [. The Wealth of Nations
b. Thomas Malthus Il. The Theory of Economic Growth
c. W.A. Lewis Ill.  Imperialism and Unequal Development
d. Samir Amin IV. Essay on the Principles of Population
Code :
a b c d
(A) 1l 1 1% I
B) | v Il 1]
©) 1 0l Il v
(D) | vV Il Il

29. ¥ §9I¢ 2025 —26H TohT TT H “HEMT &S’ &l TS hid ohl T&aTd fem T & ?

(A) S 3T HIHR (B) forem
(C) I e (D) 3% e
In Union Budget 2025 — 26, ‘Makhana Board’ is proposed to be set up in the State of
(A) Jammu and Kashmir (B) Bihar
(C) Uttar Pradesh (D) Andhra Pradesh
30. T TSIC 2025 — 26 § HATE <l Ta8 LT &Id hal T I T IAF B 7
(A) ATSHRT HT (B) T&q T Hal H
(C) 3™ T (D) hEeHd 21
In Union Budget 2025 — 26, the largest source of earning is estimated to come from
(A) Excise Duty (B) Goods and Services Tax
(C) Income Tax (D) Customs Duty
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MILITARY SCIENCE/DEFENCE STUDIES

31. frfafed 8 & #-a1 v asdia wifdd o1 3nqd aca &R 7

(A) g (B) |THI <h! TureT

(C) &7 fomaw (D) TR =i 3R wee

Which one of the following is not an intangible element of National Power ?

(A) Leadership (B) Quality of Government

(C) Extent of territory (D) National character and morale
32. wfeRIy TIest &

(A) YT TER &

(B) Ter1 fspamem & @A T qrad

(C) Tt e <t

(D) 3T | ¥ g Tl

Deterrence is a strategy

(A) Of first strike

(B) Exploitation of threat without implementing it
(C) Complete annihilation

(D) None of the above

33. forme g1 2 T ‘we Usg aoft gifera @ 919 3@ Ig @S9 & fotw s1oa Ay fadi @6 afetgm s ug,
AT A e T 98 g g 3794 f&di sl s W@ § 98 |l 7
(A) .. urfera (B) W4 3. U
(C) 3.WH. 31 (D) dreet forada
Who said that ‘A nation has security when it does not have to sacrifice its legitimate interests to avoid
war, and is able, if challenged, to maintain them by war’ ?

(A) D.K. Palit (B) John E. Rose
(C) E.M. Earl (D) Walter Lippmann
34, Tforfiaa o & -1 ded fonelt Tng o ggg &1 il sh Fwior 1 iftrenT 31e) T T B 7
(A) ST (B) & FAC
(C) HETEhITd (D) SThfceh THIEH
Which of the following element does not play a role in building strong military power of a nation ?
(A) Manpower (B) Armed forces
(C) Inflation (D) Natural resources
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35. frfciitaa § & shH-a1 T Aifd 3R TS GRen o 9 ey o e 3Tes] 9UH ol § 7

36.

37.

38.

(A) 3 o TE ¥ R 8

(B) ey i i T Grear o ki S T v @
(C) TR ife i grear ot <t wwfara sheeft @
(D) T ST J&-8 - 3T TThI TATHAT il &

Which one of the following best describes the relationship between domestic policy and national security ?

(A) They are completely unrelated

(B) Domestic policy has no impact on national security
(C) Domestic policy influences national security decisions
(D) Both are managed by different governmental agencies

1 =1 IR A O Safera Hif |

| e

II. e

lIl. S5, 21,37,

V. Hut
= feu o e ¥ & T I g |
&R

(A) 1,1, 1v, 1 B) I Iv, I, (C) I, 1, 1v, 1
Arrange the following in ascending sequence.

I. NATO

Il. SEATO

. W.T.O.

IV. CENTO
Choose the correct answer from the code given below.
Code :

(A) 1,11V, 1 B) I, Iv, 1,1 (C) 1,1, 1v, 1
e o @ - argfesk fawe 1 3eew 7 7

(A) T T B) forera (C) T
Which is an example of collective defence ?

(A) League of Nations (B) BRICS (C) SAARC

frafefaa & @ #F-w1 g &1 fagra T8 8 7

(A) AT (B) WIS S SR TG
(C) T&am (D) T&TTcHe HrRTE!
Which one of the following is not a principle of war ?

(A) Surprise (B) Maintenance of morale
(C) Cooperation (D) Defensive action

) I, 1,1, IV
©) I, 1,1, IV
(D) T

(D) NATO

51
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39. frfefaa o & ferem foran 2 o, B4 @18 qXae a= fegani & foru 4di, afes amifieni & fow

foret 27 2
A) ftwm. fafsa g (B) IA.wh.H. Fer () T.&. meH (D) . g&e
Who among the following has written that “| have authored this book not for military monks, but for the
civilians” ?
(A) B.H. Liddell Hart (B) J.F.C. Fuller (C) A.T. Mahan (D) G. Douhet
40. ‘g WIS W1 Afieh Heih 7 39 faamE & gfutes wiA 9 7
(A) &4 (B) St
(C) €.%. ufeta (D) T T
“War is a moral scandal of man” who was the proponent of this ideology ?
(A) Rousseau (B) Jomini
(C) D.K. Palit (D) Quincy Wright
41, AR 99 TS B UTferEl”’ AT JEdeh hi T fohe i ?
(A) A (B) 3= T%
(C) Hrr (D) &I fenfdioTt
Who wrote the book, “Nuclear weapons and foreign policy” ?
(A) Lenin (B) Andre Beaufre
(C) Marx (D) Henry Kissinger
42, Hifeed & FTER F--TsT TE-4T o TUsA-Tagia’ o Tecd i g v W feh & 2
(A) fafomfiy (B) Tt
(C) ATHcHR (D) 3qrEH
According to Kautilya, the centre of gravity in the ‘Mandala Theory’ of inter-state relations pivoted on
(A) Vijigeeshu (B) Mitramitra
(C) Akandasar (D) Udaseen
43. freifera # @ fopmrt g 1 ToHITaeh SepTsAl g0 Uk qEL < faeg “witfed femn & &9 4 wfifva
fop 8 7
(A) Trerrarett B) fofser &1
(C) weeht g (D) et

Who among the following defined war as an ‘Organised Violence’ carried on by political units against
each other ?

(A) Machiavelli (B) Liddell Hart

(C) Hedley Bull (D) Jomini
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44, Tfafga 4 @ fra foemes & @y @ o= weg Jo1 8 ?

45,

(A) HETeHT et
(C) QU <=5 <

(B) TN T
(D) whifeca

Who among the following thinker is associated with the term ‘Long March’ ?

(A) Mahatma Gandhi
(C) Subhash Chandra Bose

T — | 1 T - 11 6 Ty guferd L |

T -1
a. HAUE 31H ¢ U
b. feeta we TSt
c. G UsHeye T
d. Toredt Y TR UTe 1942
i few e e @ wE I g |
e
Ay a=Illl,b=Il,c=1,d=1V
(B) a—IV,b—1,c—ll,d-Il
(C)a-Ill,b=l,c—Il,d=1V
(D) a=1IV,b—1ll,c—1I,d-1lI
Match List — | with List — II.
List -1
a. Command of the Air
b. Deterrence and strategy

c. The absolute weapons

d. Victory Through Air Power 1942

(B) Mao-Tse Tung
(D) Kautilya

g -l
. TS SE
. S T
. e gRe
. TSt & Tl

List -1l

Bernard Brodie

. Andre Beaufre
. Gilio Douhat

. Alexander de Severesky

Choose the correct answer from the codes given below.

Codes :

(A)ya=Illl,b=Il,c=1,d=1V
(B) a=1IV,b—1l,c—1lll,d-1l
(C)a-Ill,b=lLc=ll,d=IV
(D) a=1IV,b-1ll,c—1I,d-1l

-11-
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46. AW IR — P01 YRae TTINT Ueh UET ITdTd I 8 S STgdl &
(A) BF — =9 — R i
(B) ¥F — 3 — WId i
(C) EH — TehUTEIH — R I
(D) YA — UTfehEaT — ST ol
International North — South transport corridor is a transport corridor which connects
(A) Russia — China — India
(B) Russia — Iran — India
(C) Russia — Turkmenistan — India

(D) India — Pakistan — Iran

47. = < *UA B N0 A vk A1 3AfeRed (A) TUT G T HRT (R) HET TR |
AUHYA (A) : FAETIHS I T&Ia: TIR € I 8 AL a1 7 | AfG 39 I8 1 Tl 37 Ak T
foran SR 1 98 Fered SIS @ 3tfes guEeE 3R HTde g B 2
THROT(R) : T fovd Jg § ST <l &R 1 HROT A1 o 98 3N <Al it T=R T S T |
frar feu 7 e & wE I g |
He

A) (A) 3R (R) SHT TcF & 3T (R), (A) h! T == LT 8

A) 3R (R) gHT T & T ( R) A)aﬁaﬁwqﬁmé
(C) A) T 8 W (R) TTeTd @
(D) (A) TeId & 9 (R) T &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

A) (A)
B) (A)
(
(

Assertion (A) : Psychological warfare is fought primarily with the weapon of propaganda. If this weapon
used correct and precise then it proves to be more effective and fatal than armed means.

Reason (R) : The reason for Germany’s defeat in the first World War was that it could not propagate like
the British.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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48.

49.

e &t SR sen | safeya fifv |
| Hermaret
II. ST
1. TTeRE
IV. FATAES
= fou T Fe H ¥ wE IW FAT |
e :
(A) 1,1, 1v, 1 B) LIV, I,
(C) 1L LIV, (D) 1, 1L, 1v
Arrange the following steps in ascending sequence.
I. Machiavelli
II. Jomini
. Marx
IV. Clauswitz

Choose the correct answer from the codes given below.

Codes :
(A) L 1,1V, B) I, 1V, 1,11
(C) 1, 1, v, 1 (D) 1,11, 1v
T — | ! T - 11 6 Ty guferd |
et - et -1l

a. & |. A JdhR

b. BN II. JISET — 1919

c. J.T%. S 9 1. 3TYcIe] ITHA AT

d. fafes & IV, ot 3% TR 9T
= fqu U foehedt § & @& W T |
&R
(A)a=IV,b=lll,c=1Il,d-I (B) a=1IV,b=1Il,c=1I,d=1l
C)a-ll,b=lLc—-1IV,d-1 (D) a=1Ill,b—1V,c—1I,d-1l
Match List — | with List — II.

List -1 List -1

a. Douhet I. Massive Retaliation

b. Fuller II. Plan-1919

c. J.F. Dulles [ll. Indirect Approach Plan

d. Liddell Hart IV. Theory of Air power
Choose the correct answer from the codes given below.
Codes :
(A)a—IV,b=Ill,c=1Il,d-1I B) a=1IV,b—Il,c=I,d=1l
C)a-Ill,b=lc-1IV,d-1 (D) a=Ill,b—1V,c—1I,d=1l
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50. < fqU T € HeFl H ¥ Teh hl SAWHUA (A) TUT T i Toh (R) el T 8 |
MR (A) : WG 1 1S forehed 781 & | W o8 & S g8 STerafedrd g | Ie9d o |1 i ot <l
FAfd el B; 7E TAR gl T o1 T 31 3 Wi e % forw weeayt # |
Tk (R) : WHITT % fomT, e sardis 3R feemdia 2 |
wﬁaﬂwﬁ%mﬁﬁmﬁfﬁaaﬁwﬁﬁﬁwﬁaﬁwwg%
(A) 3T (R) 2FT T & 3R (R), (A) i TRl =TT B
)3ﬁI<R)aﬂﬁH€r%w<R ), (A) 3! W&l =T T 2
<C> (A) HEl B WG (R) TeAd B
(D) (A) T & T (R) T8 &

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : There is no substitute for strategy. Strategy is what allows us to act with purposes in a
disordered world, it is vital to out thinking and out playing over foes.

Reason (R) : Without strategy, action is random and devoid of direction.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

51. ‘B fHferHare’ i faemum = 8 9 frag gef®a 2 7

NEUECEREERGE (B) T fommemn

(C) UsHfaes femmem (D) ATiyehiT feramem

The ideology of ‘military Keynesianism’ is related to which one of the following ?
(A) Economic Ideology (B) Strategic Ideology

(C) Political Ideology (D) Nuclear Ideology

52. NG H ‘UUH U=ES(g & ASHET <hl AT @ off ?

What was the period of ‘first five-year defence plan’ in India ?

(A) 1951 — 1956 (B) 1964 — 1969 (C) 1969 — 1974 (D) 1973-1978
53. TSR T&T STl 8 Tl SAhae Y = yftreR 8 7

(A) ST ShT 1 ST T el

(B) T h{H A <N bl FrEnfirehl 3 fewr gedaraia e

(C) BT IUHN sl ANT HH HLAT

(D) Tershar =1 @y AT we™ & forw

What is the role of defence offsets in international defence contracts ?
(A) To ensure compliance with international law

(B) To transfer technology and investment to the purchasing country
(C) To reduce the cost of military equipment

(D) To increase the seller’s profit margin
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54. I — | I G — 11 3 1Y GHTAA HIC qe1 =i o A= ST ¢ Fe § 78 IW AT ¢

55.

GET IT ON
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T - gt -1l

a. g 1 fagra . &Af=

b. 3TTCIT ITTHA Il Gl

c. FSET - 1919 n. fafea &
d. SIETfeIsH e ar IV. ehifeed
T

Aya-1 b=l c-lll d-1V

B)a-1l b=1 c-IV d-ll

(C)ya—-IV b=l c-1. d-I

(D)ya-Il b= c=1 d-1IV

Match List — | with List — Il and select the correct answer from the codes given below the lists :

List -1 List—1I

a. Saptang theory [. Lenin

b. Indirect approach Il. Fuller

c. Plan-1919 ll. Liddell Hart
d. Socialism and war IV. Kautilya
Codes :

Aa-1 b=l c-lll d-1V

B)a-1l b= c—-IV d-ll

(C)ya—=IV b=l c-I d-I

(D)ya—1Il b= c-1 d-=1IV

TEY G T AT~ T 49 1 T & & @@ g 7
(A) TR fQeft gati o e SR greee wefud e

(B) Igfortm Twsiai <ht FrRrt shien 3R feuwar sam wa
(C) J&Ta TSl W 3ATfeh Ufcrarer e

(D) wIfea Aqe & ot ERAETT o AR I laursHes s=MET

What is the primary function of peace keeping missions in conflict resolution ?

(A) Establishing trade relations between conflicting parties
(B) Monitoring ceasefire agreements and maintaining stability
(C) Imposing economic sanctions on belligerent nations

(D) Facilitating arms trade to balance of power
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56.

57.

58.

59.

60.

UeTm B g FER 31T ¢ Teged fid’ w1 T Har 2 ?

(A) Toza s o=

(B) fava =R Hea

(C) IS s

(D) 3T § ¥ 15 el

Who releases the ‘Readiness for the future of the production report’ ?
(A) World Economic Forum

(B) World Trade Organisation

(C) World Bank

(D) None of the above

TTgST FL&AT SEH b1 Jawe fohd i htenl W et e 2 2

(A) TR, 3T wfed 3R e

(B) THTE, HTHTSI Ifed 37T @l

(C) @R, Y&aT 3 I

(D) STFT | | hIS &l

Management of cyber security risks depends on which three factors ?
(A) Threat, economic power and impact

(B) Impact, social power and threat

(C) Threat, a vulnerabilities and impact

(D) None of the above

gdg ¥ g1 § R T ITRRA-S - 3711 frmse o1 fore gmeq g waeel &9 9 feame 31k
ferenftra feram w2

(A) 38 (B) <.3.EL.3.

(C) T1&t (D) STrerET

‘Iron-Dome’— Akash surface to Air missile was indigenously designed and developed by which
organisation ?

(A) ISRO (B) DRDO
(C) NASA (D) JAXA

frfafaa § @ #9-31 9ra &1 yom b fewe & 7

(A) ST (B) H=tH (C) I=|q (D) eI
Which of the following is India’s first nuclear reactor ?

(A) Zerlina (B) Cirus (C) Apsara (D) Damini

qRd | 3A=AN AT 6l TATIAT e hl =i 7
When was the Space Commission established in India ?
(A) 1962 (B) 1969 (C) 1972 (D) 1975
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61. T = 3aUE FesRn § safeyd i
|. GASTHT HTSHATT
II. TIAT AT gHAT
lll. TSRS FHAT
IV. YR §8¢ T gHeAT
= fer T %< T ¥ g IW ﬂ'&ﬂl :
%e:
(A) LIV, I (B) I, 1v, 1,1
(C) 1,1 v, 1 (D) 1,1, 1,1V
Arrange the following in descending time line :
I. Pulwama Attack
II. Raghunath Mandir Attack
[ll. Pathankot Attack

IV. Indian Parliament Attack

Choose the correct answer from the codes given below :

Codes :
(A) 1, 11, 1V, 11l B) 1, IV, 1II, i
) I, 1,1V, | (D) 1, 10, 11, 1V
62. WA TGHR 7 I8 2016 H IS¢ Fefle ey ST fohal 1| S0 fehd GIT <hl HIEHTSAT = Wi
foram o ?

The Government of India organised the International Fleet Review in the year 2016. How many country’s
navies participated in it ?

(A) 40 (B) 50 (C) 70 (D) 30

63. ‘C HhAIET AME : T H- 3T fSWhE’ o i@ & & ?
(A) S gerefi T8 germ
(B) T.UH. cetell
(C) e faftm fam T
(D) S . 3. Tz
Who is the author of the book, ‘The McMahon Line : A century of discard’ ?
(A) General Dalbir Singh Suhag
(B) A. S. Dalvi
(C) General Vipin Singh Rawat
(D) General J. J. Singh

M 17- 51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

64. = feu T T el § ¥ U I AMHA (A) 3R G FI q (R) HF TR |
FAfReA (A) @ RA 1 T 5 Aifd 2014 H AN & |

ek (R) : YIRd & JaR U3l o foehrd o foTu siivemest = @1er Seat g Taws § |
ST T % 3MTelreh | Frefafaa fasedt § & waifies Sugd I 9 |

(A) (A) 3R (R) Q1 @& & 3R (R), (A) Fi w2 =T 2

(B) (A) 3 (R) GFI WEl € T (R), (A) 1 Tl =ame 7 2

65.

(C) (A) §& 2, T (R) AT &
(D) (A) A & T (R) 9& &

GET IT ON
Google Play

Given below are two statements one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : India’s Act East Policy launched in 2014.

Reason (R) : The relation between India and Bangladesh should be better for the development of North

Eastern States.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

THFIIS TIZVE WS TS fehed Trafera g 2
(A) YRd - MR

(B) YR - ==

(C) YA - UTfehEdT™

(D) YRA - A

Actual ground position line is related to

(A) India — Myanmar

(B) India — China

(C) India — Pakistan

(D) India — Afghanistan
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66.

67.

68.

goff wer’ | srfirom B

(A) Toe weTaTR T

(B) =T |13 1 &= 31eTE gt & |

(C) WRA 3R <A % 9=4 & gugiar

(D) 3RS ITR H HYET 3ohl Sl FARG st Sl T At A6 Ao
‘Poorvi Prahar’ denotes

(A) A maritime exercise conducted in Indian ocean

(B) A Tri-service military exercise in Eastern theatre

(C) A defence agreement between India and China

(D) A naval mission to monitor piracy in Arabian sea

T h I G -AFF Al b Tl W= hT G 39T FAT AT § 7

(A) T T T < forg

(B) W weeH we wirfr e

(C) Jf3T&IuT 3TE TeTe o oIy

(D) foifert & e o sem & fog

What is the primary purpose of ‘Flag March’ by the para-military forces within country ?
(A) To promote tourism

(B) To display strength and ensure peace

(C) To conduct training exercises

(D) To promote tension among adversaries

frTferd § & -T1 T WHA % WY T o Y -HHT AT HT ] 7

(A) STeATCT

BRUEZSIE]

(C) =

(D) ST H & ¢ Tl

Which one of the following country shares the longest land border with India ?
(A) Bangladesh

(B) Pakistan

(C) China

(D) None of the above
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69. H — Il I — 1'% T Hfera hife qen i & A= fou e e @ wd W g

70.

= -1 g -1l

a. JTNIE Heked . 1965
b. JTRYA Jvg A Il. 1971
C. TATEAT ShHe Il. 1988
d. 3T fae IV. 1999
%<

(Aya—IV b=l c—1 d-ll

B)a—1 b-Ill c=Il d—1IV

(C)a—=Il b=1 c—1Il d=IV

D)a-Il b=1Il c=IV d-1I

GET IT ON
Google Play

Match List — | with List — Il and select the correct answer from the codes given below the lists :

List -1 List -1l
1965
1971
c. Lightening campaign . 1988

IV. 1999

a. Operation cactus l.

b. Operation grand slam Il.

d. Operation Vijay
Codes :
(A)a-1IV b-1l
B)ya-1 b-1ll
(C)ya-1Ill b-1
(D)ya—1Il b-1l
Freiferd ® & fop WA < TR AT o ‘IS o &9 § HelHd foham Smar g ?
(A) Hifeed
(B) 31.Tel. H&&
(C) FomETH Fsrwoad
(D) IFSfa STl
Which one of the following is referred as a ‘Doyen’ of India’s strategic affairs ?
(A) Kautilya
(B) J.L. Nehru
(C) Krishnaswamy Subrahmanyam
(D) Ajit Doval

d-1l
d-1V
c—Il d-1IV
Ch— \Namd Sl

c—|

c— Il
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71. Tr=afafaa 4 & fraa 39 oq W SR T 2 T, ““wwa &1 qd 1 3 g 78 7, afesw @ Hr 3
T BT 8 3T od Y 3T & e R 7

(A) g = (B) Teetl foeres
(C) = e (D) AT Tarrl
Which one of the following emphasize that, “India not to look east, but to engage east and act east” ?
(A) Narendra Modi (B) Hillary Clinton
(C) Barak Obama (D) Sushma Swaraj

72. T =1 S TTRE § SFafeem HifT |
1. srorer fhem

Il ST, iferd

1. frersTeRt B

IV. TH.%. TRREUH
= fow e e ¥ @ T s g |
Fe

(A) 1, 11, 1V, 1l (B) 1, IV, 1L, Ii
(©) I, 1, 1V, | (D) I, 11, 11, IV

Arrange the following in ascending sequence.
I. Brajesh Misra

II. J. N. Dixit

[ll. Shivshankar Menon

IV. M. K. Narayanan

Choose the correct answer from the codes given below.

Codes :
(A) L 1,1V, 1 B) I, 1V, 1,11
(C) I, 1, Iv, 1 (D) I, 1, 1, v

73. WA hl wae s&¢ Hifq hu=nfes ®9 9 forg a9 gea 1 = ¢

In which year India’s Act East Policy formally articulated ?

(A) 2005 (B) 2014 (C) 2016 (D) 2018
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74, T = 30 sy § sgafed K |
|. IRHTY] Gad g ad 9 |
II. 3T adieror afdera @i |
III. STRr JF=die | |
IV. TRHTY] STER | |
= fow e e ¥ @ wE s g |
T
(A) L1V, I (B) I, 1v, 1,1 (C) 1,1V, 1 (D) 1, 1,1V
Arrange the following in ascending time line.
I. Nuclear Free Sea Bed Treaty.
II. Partial Test Ban Treaty.
[ll. Outer Space Treaty.
IV. Nuclear Non-Proliferation Treaty.
Choose the correct answer from the codes given below.
Codes :
(A) LIV, I (B) I, 1v, 1,1 (C) 1,11V, 1 (D) 1, 1,1V

75. YRR 91 1 ST SUSOMKI B |
a. T 39 9T Hedlid ggoh o |
b. I§ 8000 TeRUT oot = &l Irex Aft @1 TehaT # |
c. 3Tt 3Tfereran Tfa 2500 ferdt fer TveT 7
d. 3Tt SAfeRan fd 2000 ferdt Ut =ver 7 |

= feu U foshedt ® @ T IR gHT |
(A) I a, b, ¢ (B) e a, b, d
(C) %o b, ¢, d (D) ed a, ¢, d

Indian Air Force SU30MKI is
a. Twin Engine Multirole Combat Aircraft.
b. It can carry external ammunition weighing 8000 kg.
c. lts maximum speed is 2500 km/hour.

d. Its maximum speed is 2000 km/hour.

Choose the correct answer from the options given below.
(A) Onlya, b, c (B) Onlya, b,d
(C) Only b, ¢, d (D) Only a, c, d
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76. =l fou T S el § | T B MHAA (A) 3T R HI T (R) FE T
HATHER (A) : ST o FRIFT % IR T A G0N hl Icq(T o TIH T & SEHT § Vel ST Hhell 2 |
Tk (R) : &I TgWhi <l Icuftl 1 ¥ HiTad 781 &, J1 Fguul & Ush TMT HfTehel & ST 2 |
IR el % e § Freenad e @ geife S S S |
(A) (A) 3 (R) T T & 3T (R), (A) 1 Wl = @
(B) (A) 3T (R) T Wl & g (R), (A) 1 Tl =me T 2
(C) (A) TR &, TG (R) TTeid 2
(D) (A) 7T 7, W (R) W 2
Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Water pollution can be easily prevented at the place of its origin based on laws and
regulations.
Reason (R) : Where the place of origin of pollution is not certain, it becomes difficult to prevent water
pollution.
In the light of the above statements, choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct

77. WA €9 § JUCH 39 JhR Ffichd i ST Tkl &
(A) STehfreh TR T
(B) W I HIaHd
(C) WHaHA 3R SRR
(D) I H & hIg T
Disasters may primarily be categorised as
(A) Natural and Poverty
(B) Natural and Man-made
(C) Man-made and Industrialisation

(D) None of the above
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78. Torm ufifeufeant o wgera Tsg I1eT 1 “‘I=Be-42" A= FEAT I FIAT TgH AT B 7
(A) e JTehfdeh STTET 3 GRH
(B) & =TS IMTfed T F&AT bl @all &
(C) ST« TSl I SAT=d1eh TS | &= T <ht | <hi T &
(D) T snfer zermomn st o
In which situation does ‘Article-42’ of the United Nations Charter allow for military intervention ?
(A) Only during natural disasters
(B) When there is a threat to international peace and security
(C) When countries requested military help for internal conflict

(D) During regular peace keeping operations

79. F — I FE - 11 1 gufod hife qen gieet o e fou T e @ w@ s g |

et - | g -1

a. ATfoeTeT TerehTel l. 1992
b. TIETRT TEHEH II. 1997
c. geaft TR aeeH IIl. 1994
d. TRl g IV. 1987

e :

(A) a—1Vv b—1I c—1 d-1i

(B) a—1 b—Il c—1Iu d-1Iv

(C) a-1IVv b—1l c—l d—|

(D) a-1 b-—1V c—1 d—1In

Match List — | with List — Il and select the correct answer from the codes given below the lists.

List -1 List -1l

a. Montreal Protocol [. 1992
b. Lusaka Conference . 1997
c. Earth Summit . 1994
d. Kyoto Treaty V. 1987

Codes :

(A) a—-1V b1l c—| d—1li

(B) a—1 b—Il c—1u d-1v

(C) a-1IV b -1l c—ll d-|

(D) a-1l b-IV c—| d-1n
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80. ¥ 2013 IAU@UE H 1A d1g o GRF WA 91g T gRI =il T S9N sl &) A e

T T ?
(A) 3T TIEM (B) T Ted
(C) AT Heg (D) JATRIA T

What name was given to the rescue operation conducted by the Indian Air Force during the flood in
Uttarakhand in 2013 ?

(A) Operation Suryahope (B) Operation Rahat
(C) Operation Madad (D) Operation Ganga
81. Trfefad o & #H-w1 98 Yora o1 e wa 8 7
L EEIR SR (B) g T Tl
() gmdt (D) ¥epeefiar
Which one of the following is a secondary effect of a major earthquake ?
(A) Ground shaking (B) Surface rupture
(C) Tsunami (D) Seismic waves
82. ‘wfd < foTq AT hrishy ol WA Usg HaTawl § fohdeh g S&atfad fopam T 2
(A) St TSR (B) SRSl NEE
(C) Ffehet ge=a (D) =TS-TA-a8
The ‘Atom for Peace’ programme was introduced in the U.N. General Assembly
(A) D. Eisenhower (B) Jawaharlal Nehru
(C) Nikita Khruschev (D) Chao-en-Lai

83. 19 feu M < YAl H ¥ Ul MR (A) 3 G HI qh (R) HET T 7 |
rftreRem (A) : =T STHEYT f&oT 3R Tuy & e draee S S 6 T Hal g |
e (R) : ST~ STTHUH 1 S0 g TR AT~ 3hi FHRATIT T ISR ST G- AL L b T
Y2 |
3w T % 3MTeiieh 8 ffaiiad foshedt § & @&l 3T g4 |
(A) (A) 3 (R) THI W& & 31 (R), (A) Sl TEl =mea 2
(B) (A) 3R (R) ST TE &, T (R), (A) I wel =ame T 3
(C) (A) &I B, T (R) Ted &
(D) (A)TTeTd B, WG (R) HEl B
Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Peace research seeks to establish connection between violence and conflict.
Reason (R) : Peace research arose from effort to apply social scientific theory to the problems of war
and peace.
In the light of the above statements choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is not correct
(D) (A) is not correct, but (R) is correct
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84. wgFd Tsg wMfee TRequr TR % Ted § €3N, weg 1w HYS B 7
(A) Teasmite, ferifaemvm we fufam

(B) few—a, Saeude wrg fished

(C) Tevmeet, Saeume g Rigfae=

(D) fewameht, ferishet e fgfaferem

85.

GET IT ON
Google Play

What does the term ‘DDR’ stand for in the context of United Nations Peace Keeping Operations ?

(A) Disarmament, Demobilization and Reintegration

(B) Defence, Development and Recovery
(C) Disaster, Development and Resilience
(D) Diplomacy, Democracy and Rehabilitation

Tt — | Bl G - 11 % A1 gHfrd it g et o = feu MU e & Fd IR g

T -
(1)
3
ESNEC]
EISIN
AT

Qa o o ®

He
(Aya-1Ill b=1 c=1l d=1IV
B)a—-Il b—1 c—Ill d=1IV
(C)a—IVb=1Il c—Ill d—1I
D)a-Il b=IVc—1 d-1I

-l
(STETqUTTE )
. Sfoga feam
Il. ST TH. 9T,
Ill. hISiE 15
\AR: 1|

Match List — | with List — Il and select the correct answer from the codes given below the lists.

List -1
(Country)
a. lran
b. Israel
c. Brazil

d. Argentina
Codes :

A a-ll b=1 c=1Il d=1IV
B)a-1Il b=1 c=1Ill d=1V
(C)a=IVb=1l c=1Ill d=I
(D)ya-1l b=IVc-1 d-1l

List -1l

(Missiles)
I. Davids Sling
Il. Fog M.P.M.
[ll. Khordad —15
IV. Mathogo
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86. 3THR® 9 ®F g ‘I3 W1 AR 9T e &A1 fomam mam ?

(A) 5 ®E, 2011 (B) 91?14‘56'{, 2009
(C) 8 3713, 2010 (D) 2278, 2002
When was the ‘New START Treaty’ signed by the America and Russia ?
(A) February 5, 2011 (B) December 9, 2009
(C) April 8,2010 (D) May 22, 2002

87. ITUISId WEA AR Tl fopd o & AT &3 @ 7

In which year the International Arms Trade Treaty came into force ?

(A) 2014 (B) 2016 (C) 2000 (D) 2020
88. SIHaT WICHhIa — 1925 TTfies d W freferfad # & feraeh ST 01 Ig o woaf~oa sar & 7
(A) STEC (B) TET® BRAT 7 1F
(C) TETafsh T ek B (D) ST&S Al
The Geneva Protocol — 1925 primarily prohibits the use of which of the following in war ?
(A) Gunpowder (B) Chemical weapons and gases
(C) Chemical and biological weapons (D) Land mines

89. WA = AR Bform o wlieror W ufdee e & foTu Tmeia 8q veal Sdd e W 7

When did India made the first proposal calling for an agreement to ban nuclear weapons test ?
(A) 1950 (B) 1954 (C) 1963 (D) 1978

90. = feu T g1 oMl H ¥ T I AMHAA (A) 3 gEL I T (R) Hal T 2 |
arftreRem (A) : et & qrerd gREmt W = srm @ 3 R |
Tk (R) : STefer I =01 S <1 S1g 9 o ot 8 |
Sl herl % STl § Feelea et § & T S T |
A> (A) 3T (R) EHI W&l & 3R (R), (A) h el =me @
B) (A) 3R (R) GFI Wl &, W R) (A) 1 TE = T 2
(C) (A) T 8, T (R) Terd &
(D) (A) TTeTd 8, g (R) TEl @
Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Disarmament means maintaining control of weapons.
Reason (R) : Whereas arms control curbs the arms race.

In the light of the above statements choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct
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91. F — 1l = — I Ty gaferd Hifse 7o gl e for 70 fe @ 798 W g |
I

et - Sl
a. IiE AR |. STt 3TH
b. H&HefA T II. eTferaes T
c. W & TEHA 1. STeeT 3
d. BIESH IV. S8 i
%c:
(A) a-—1 b—1ll c—|l d-1v
B) a—1i b-1 c—|l d-1v
(C) a=1IVv b-1l c—Il d—|
(D) a-1l b-1 c—1IVv d-1l
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1l
a. Grenade Launcher [. Small Arms
b. Submachine Gun Il. Toxic Gas
c. Anti Tank Rifle Ill. Shoulder Arms
d. Phosgene IV. Light Weapon
Codes :
(A) a-—1 b—1ll c—|l d-1Vv
B) a—1i b-1 c—|l d-1V
(C) a=1IVv b-1l c—Il d—|
(D) a-1l b-1 c—1Vv d-1l
92. fava # i w1 "M HI-G1 B ?
(A) T HETHTT (B) ATV HEMTR
(C) fa Tem@TR (D) 3TTehicsh HETHTR
Which is the Third Largest Ocean in the World ?
(A) Pacific Ocean (B) Atlantic Ocean
(C) Indian Ocean (D) Arctic Ocean

93. IS fafer & ‘swomeff’ sreg 3= w9 @ e uftaifya feram w2
When was the term ‘Refugee’ formally defined under international law ?
(A) 1919 (B) 1945 (C) 1951 (D) 2011

94, TEfRUY 3glei hl JTEfhal W feifra feounft fohem &t & 7
“gfe wA.w.wH. AUTERTE ], O F1 TS TETR B ? I STHEMEAE A FTH @ g 7
(A) YT T T (B) 31ed fargrt arsft
(C) e &= (D) &8 HUSaT
Who has made the following comment on the relevance of Non-Alignment ?
“If NAM is irrelevant, is NATO relevant ? What it is doing in Afganistan ?”
(A) Bhawani Sen Gupta (B) Atal Bihari Vajpayee
(C) Natwar Singh (D) Nelson Mandela

M -28- 51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

95. Tera RIS Tt 1 3eva 3TTaehdTg o ford TI9OT bl ekl 3R T § 7
N REEEIETCEE|
G ERIERIHEIS]
(C) JATdehdTE o forTaTuT o o o foTu Straiisd Tvie
(D) HH T T

Which international treaty aims to prevent and suppress the financing of terrorism ?

96.

97.

(A) The Geneva Conventions
(B) The Kyoto Protocol

(C) The international convention for the suppression of the financing of terrorism

(D) The United Nations Charter

GET IT ON
Google Play

Freferfiad & Fore w1 o s, el g Ted i 3, 3 R g § T 8, wele T
e g § T § 3 R S A R E 7

(D) T3

(D) Mao

(A) T=TS] (B) SHrfErfY (C) wifeex
Who amongst the following stated that, “Victorious warriors win first and then go to war, while defeated
warriors go to war and then seeks to win” ?
(A) Sun Tzu (B) Jomini (C) Kautilya
T — 1 g — 1 T gt <hifr e g % e R T e @ Tl I gh |
g -1 g -1l
a. s A |. YR — et
b. TU TS II. Sorrset — Eifan
c. 38 I AATEA IIl. 3EA — A
d. Tk T IV. 3T IR - gfaror i
e
(A) a-=1Ill b-1 c—IV d-I
B) a-I b=IV c-I d—1i
(C) a=IV b-I c—1l d-1ll
(D) a-1 b-1ll c-Il d—-1Vv
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1l
a. Blue Line I. India — Sri Lanka
b. Purple Line . Israel — Syria
c. 38 Parallel Line lll. Israel — Lebanon
d. Palk Strait IV. North Korea — South Korea
Codes :
(A) a-=1Ill b-1 c—1IvV d-I
B) a-lI b-IV c-I d—1i
(C) a-IV b-1 c—1l d—Ii
(D) a-1 b-1ll c-I d—-1v

-29-

51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

98. Tr=faifgd o & S-T1 femg HEMTR =1 3TEATNCH HEHFR ! Aedl & 7
(A) TS TR
(B) 4 3T TTe B9
(C) HeTeFh! JTSHEHET
(D) 3urerd | 1S T

Which of the following connects the Indian Ocean to the Atlantic Ocean ?

(A) Suez Canal
(B) Cape of Good Hope
(C) Malacca Strait

(D) None of the above

99. forer e 2 fop, “forell < i facw fifa S&es et g faff@ &t 27 2

(A) T &, wEm (B) fafea =i

(C) T (D) AdTfeTA SHTaTe

Who said that, “The Foreign Policy of a country is determined by its geography” ?
(A) A. T. Mahan (B) Liddell Hart

(C) Douhet (D) Napoleon Bonaparte

100. ‘foeatfa vamg’ i weresh fordes g ufeurfea it mft off 2
(A) = TRT
B) &t. w=. fafsa &ré
(C) 3. Th. Hl. Fer
(D) A3t gae
Who propounded the strategy of ‘Expanding Torrent’ ?
(A) Che-Guevara
(B) B. H. Liddell Hart
(C) J. F. C. Fuller
(D) Giulio Douhet
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INSTRUCTIONS FOR CANDIDATES

1. There are two Parts in this Question Booklet. The first part of which contains a total of 30 questions related to General
Knowledge.

. There are a total of 70 questions related to the optional subject in the second part of this Question Booklet.

. There are 100 question items given in this Question Booklet. Each question item is printed in both Hindi and English.
Four options are given for each question. Choose one of these options which you want to mark on the Answer Sheet.
If you feel that more than one option is correct, then mark the option which you think is best. Only one option has to
be chosen for each question item.

4. Immediately after the commencement of the examination, you must check the Question Booklet to ensure
that there are no unprinted, torn or missing pages or question parts etc. in it.

. Candidates should open the seal of the Question Booklet only after being instructed by the Room Invigilator.

Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the

Question Booklet and Answer Sheet.

7. The candidate must write his/her roll number, subject, correct question paper code, number of answered questions
and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will
not be evaluated and the entire responsibility will be of the candidate himself/herself.

. The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not
be evaluated.

9. Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.
10. Candidate should not fold the Answer Sheet (OMR Sheet).
11. You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the
Answer Sheet (OMR Sheet) to the Room Invigilator.

12. In case of any discrepancy between the Hindi and English versions, English version will be taken as final.

13. If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will

be disqualified from the examination.

14. No candidate will leave the examination hall until 120 minutes (two hours) are completed.

15. Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be

provided.

16. Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet

(OMR Sheet).

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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